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Instruction : First 15 minutes are allotted
for the candidates to read the
question paper.
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All questions are compulsory.

Question No. 1 is Multiple Choice
type. Question Nos. 2 to 6 are
Defirute  Answer type 1o be
answered in one sentence each.
Question Nos. 7 10 11 are Very
Short Answer type to be answered
in about 50 words each. Question
Nos. 12 to 14 are Short Answer
type to be answered in  about
150 words each and Question
Nos. 15 to 17 are Long Answer

Iype to be answered in about
300 words each.

Marks allotted to each question

arc given against it.
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[ Multiple Choice Type Questions ]

1 w7 EUE & IO & 6 W} [Ghed 64 T
3 fort § Fa U@ W6 & R I gAA
%) TIEA % FER YR e 8

) 16

i) 13

ii) 10

iv) 8. 1
@) T MU afulan &E wRd gIm ?

iy 19554

i) 1936 H

i) 1984 §

iv) 19619 | - 1
1) uReE A @ fefd § qur R I

90439 | Turn over

363(ID)

)

g)

4

04 7 F

% ;?fnﬁﬂ AR A e T
) ST smm I
) e s

i) 9Ty aysng

RARLEGIEE GRS !
%ﬂﬂ?ﬂ%?ﬂ T
1) T3 HHR
i)  FH= & I=g PERC]

iii) TP e

iv) T m !

1. Four options are given in every part of
the following question of which only one
1s correct. Choose the correct option and
write it in your answer-book :

aj

b)

90439

As per Manusmriti, the number of
Samskaras 1s

i) 16

i) 13

i) 10 {
iv)] 8.

[n which year was Dowry Preventiont

Act passed ?

i) 1955

ii) 1956

jii) 1984 :
jv) 1961
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¢) Which of the following efforts will

improve the condition of Indian

women ?

i) Child marriage

i1  Right to equality

i) Intercaste marriage

iv) Western education. |
d) Which Ashrama has Manu

designated as the supreme one ?

i) Brahmacharya Ashrama

i)  Grihastha Ashrama

i) Vanaprastha Ashrama

iv) Samnyas Ashrama. 1
e] Which one of the following is the

characteristic of a city ?

1) Big size

i} High density of population

ili) Non-agricultural occupations

iv) All of these. 1
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[ Definite Answer Type Questions ]
2. YT @i | e ®t = T S 21

2. In Indian culture, what is the ‘soul’

regarded as ? - 1
3. ¥ SIEE ¥ UGE YHIEd gidr & 7 1
3. Does population.affect the environment ?

1

4. ‘THH GRER FTE ?
4. Whatis ‘Nuclear family’ ?
5. ‘@@ @
5. What is ‘Samskara’
90439
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6. ‘TR g2’ e dueTE AT waégw?
6.  Which Five-Year Plan had the ObjEClivé
of ‘Garibi Hatao’ ? 1
[ aife oy IR W9 |
[ Very Short Answer Type Questions ]
7. wd R oo v T § 7 )
7. What do you understand by ‘Dharma’?
8. ‘TTur wH € 39 9T A & 2 2
8. What do you understand by ‘Rural
Society’ ? 2
9. SaGEar AT & s I THE IUG TR 2
9. Elucidate any two effective measures to
control the population. 2
10. FETEY T & T 0¥ FM & ? 2
10. What are the main objectives of
Brahmacharya Ashrama ? 2
11, ‘" e e 2 2
11. Whatis ‘Sociallforestxy’ ? 2
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[ Short Answer Type %“m‘ﬁ“ns ]
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12. Disbuss the impor:;?;im gtfion?,luag:

Panchayats in rural re
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Write the aims of ‘Integrated Rulc’j
[)L‘\Llnpmvm Programme". 4
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Discuss about ‘Anulom marriage’ and

‘Pratilom marriage’. 4
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6
What are the main problems of
scheduled castes in India ? Explain. 6

OR
Describe the ways of marriage in tribes. 6
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Is caste system relevant today ? Answer

logicallv. 6
OR

Grive your views n favour or against the

statermient ‘Indian Varna Vyavastha s

slowly diminishing’ 6

TR U WETEE gUE &1 e & 6
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“Dowry is a social evil.” Explain. 6
OR

Describe the main characteristics  of
Indian Social Organisation. 6
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